SN 4 £

5)#7\%%% </\$n 4 4

E12H14B8~%

=3H15 EI AFLEAT

05 £

D F &R F e i
L o* A w o |MUEAR (Bi32) (Bi3A) L T g ia
AR AR R 4, 480, 000
RS 1. 17 R/ N AR R 4, 860, 000
" f i%ﬁj—a{@gﬁ?g% T,,T( wWIFrIv 5, 300, 000
HiRMRESFT®RET N N=1ta 2 KRITHIE 5, 450, 000
-~ ® % Z R5. 1. 11 4,928,000 5,115,000 ;%g%lﬁgﬂﬁgyzgi’iiﬁ iRk R At i’f% ﬁﬂﬁﬂwﬁ* & e
= ?L g u AR X, MBS 1 AR FERER 5, 490, 000
A 2 5
R5. 3. 24 TR R
B« K TG 2, 259, 000
RE. 1. 17 R/ AR R 2, 294, 000
i @WIrIvy 2, 308, 000
s =3 %,
BRI S —I L - i =7V — FEAERET - e
=% ) TREEREH = = R5. 1. 11 2,484,900 | 2,541,000(2, 094, 37nf BRI 2 A THIE E?ﬁf%}fgf&@ g |HERER 2, 346, 000
A RT7TESHIE = A EXEB@BHO FTESHIE BB 2, 360, 000
#L o .
R5. 3. 24 ey RF iR
HRAY B R 13, 900, 000
_— wRE LA 14, 050, 000
W HEEAETE 14, 050, 000
8
J(ﬁz;—ggé%) 7 \y];f ?E:/ + % TR ET N=1 % FH IR -3 R 14, 150, 000
Witk 7 R i B = 2
RN %Eﬁijfﬁiﬁzaﬁ% 7f g R5. 2. 28 15, 290, 000 | 16, 379, 000 §= ;6.50 mm okt BE Se kR At E?Ef%%g fﬂz R 27 T R 14, 250, 000
'ﬁ%:I%: _t A 7 ﬂ{? N L=
: AL VR R 1200 m 1Lyl -2 (R) 14, 300, 000
R5.7.28 e T 14, 400, 000
EREFTER 14, 450, 000
@)1l _LpE 14, 600, 000
@) L 11, 200, 000
' 1Ll -2 R 11, 260, 000
WP EEAETIE 11, 280, 000
8 .
(04-F6TH) 7 v &Y 1 %, iH@gﬁSHWfHJLI N=1 e B0 11, 330, 000
I TR R B = 2.
éﬁ?ﬁﬁgﬁfﬁgﬁf & & | Re.2.28 12, 320,000 12,738,000( W= 22.0 m IR ki ’i’—?’%ﬂ’gﬁ%giﬁ% 1 s 11, 400, 000
L = A ESEEM L= 400 m
#L BEEEM L= 600 m BB T ERE 11, 450, 000
R5.7.28 SR T 11, 500, 000
BRB LA 11, 530, 000
WRiCHE T3 11, 570, 000




S04 EEALER </\$n 4 £

E12H14B8~%

=3H15 EI AFLEAT

05 £

o YD &R F e i
&5 T % % T | 707 (AMLEA R (BL%) ) THPEE P T /\(gﬁ)ﬁﬁ
B HEERTLE 14, 400, 000
RE. 3.1 BRELA 14, 450, 000
" A B R 0 14, 500, 000
(ojx—li;liﬁﬁ%éfv + % JIL—{@“’;E?F%HEI N=1 (L -2 14, 550, 000
)1 T ks E A B = 1.
5 iﬁﬁ%ﬁﬁ?&%ﬁi ) g R5. 2. 28 15, 840, 000| 16,577,000 ¥i= 33.0 m ARt P EEATY JEFERRE TR A 2] = 14, 550, 000
= = A ESEEE L= 400 BB 5 2 &Fih
L BEEBME L= 400 BN TER 14, 600, 000
R5.7.28 A7 R 14, 700, 000
@) LE%X 14, 750, 000
T S 14, 800, 000
1Ll -2 tR) 11, 700, 000
RE. 3.1 WP HRAETE 11, 830, 000
" T S 11, 850, 000
(OjL—F ;éi%?{wy + % JIL—{@TSH%EI N=1 [ rpR B 25 11, 900, 000
VT 1A TR 7N B -4V o = = &3
6 Eféiﬁ%ﬁﬁﬁsﬁmﬁi T iy R5. 2. 28 12, 870, 000| 13,299,000 ¥i= 21.0 m (iR A R A4 TH3®EH W) kg 11, 900, 000
= 2 A ESEE L= 400 4
L HEEEE L= 800 FH Ry - 22 6 11, 980, 000
R5.7.28 BB A 12, 000, 000
B TER 12, 000, 000
R R UBRRK 12, 100, 000
EREFRTER 12, 000, 000
RS. 3. 1 B HEEALE 12, 100, 000
1Ll -2 R 12, 100, 000
8
(04-T1TH) F 71~ 73'5( % in%ﬁtHI%JtI N= 1 Fh kB % () 12, 150, 000
7 “/thﬁi@?liilgi%mﬁiﬁyi - % R5. 2. 28 13, 200, 000| 13, 662, 000| \_ 3'2?0 mm ERER T KRS FEERREL/ERTVEHT 3 FE 5 - 6 12, 150, 000
PEPR O R MR T = 2 Es ke L= 300 TH109%H
L i KT R BRK 12, 200, 000
R5.7.28 BB A 12, 220, 000
@) L 12, 250, 000
(1LY SRS 12, 300, 000
EHREHRTEH 12, 800, 000
RE. 3.1 W) e 12, 900, 000
1Ll -2 (R) 12, 900, 000
] .
b3 IET N=1 S
8 I 158 b A " R5. 2. 28 14, 080, 000| 14, 553, 000 W= 29. 0 & T & 3
ERARARENIE | | SR L= 300 ERARLRAASE TE1O9®M  |PWLER 13, 000, 000
L BILEEE L= 400 B HEEATE 13, 050, 000
R5.7.28 A7 TR 13, 100, 000
wRE LA 13, 150, 000
R T2 13, 150, 000

77)



SN 4 £

= BEAALAE R </\$n 4 4

=3H15 EI AFLEAT

=1 2H14HB~8f54

o ES Sy & F A%
&5 T % % THRE | 707 (AMLEA B B B THEE P T /\(gﬁ)ﬁﬁ
BT BB 10, 100, 000
B HE R T 10, 180, 000
R5. 3. 1
1L ilRs 122 () 10, 250, 000
1
(04-T3TH) b4~ % % jl:ilpgﬁguyfnjhl N=1 E T PR BAFE R 10, 250, 000
9 7)1 ) . 4. iy N AN =" ES
ﬁ%ﬁ%@fﬁﬁ% ——Q ?i R5. 2. 28 11,110,000 11,341, 000 %]%g%ﬁmL . 7 R EREAEST TH26 0% e T 10, 260, 000
= =
L : BRE LA 10, 300, 000
R5.7.28 th)I| FRE 10, 350, 000
PR Y - 72 () 10, 370, 000
B ERA TE 10, 400, 000
bEE B LB 36, 100, 000
WANE =7
B 8 EBEARYS 2B R B 2 EH 39, 100, 000
§ﬁ4$}§(ﬁ@) ?; ?ﬁ k7 VA MK 40, 200, 000
DIL= L R— LR B 1 XK - ‘ AL sk KRB [P » 200,
L e g 2 R5. 2. 28 39, 710, 000| 41, 767, 000| gy % noycey L X JeiE = L EMR At 7TTH12E9 ]
¥ 8 A ROFHAM 1K A
L = — ¥t
TVAmsER 1R AR T Fik
R6. 2. 29
AT 7 7 X R

77)



